

**City of Ketchum** 

# CITY COUNCIL MEETING AGENDA MEMO

Meeting Date:	5-6-2024	Staff Member/Dept:	Ben Whipple / Public Works
Agenda Item:	Ratification of Idaho M	aterials & Construction	's Main Street Rehabilitation Contract

# Recommended Motion:

Recommendation to ratify the contract for \$6,457,502 with IMC to complete the council approved scope of the Main Street Rehabilitation Project

# Reasons for Recommendation:

- After extensive research and community input staff has come to an agreement with IMC to perform the resulting scope to complete the Main St Project
- Some traffic equipment items that were originally planned to be direct purchased by the City will be procured under an IMC subcontractor (E1 Signals Electrician) and are included in this contract
- A portion of the IMC scope was awarded to Lunceford Excavation who was already completing the water line relocation in order for the project to meet schedule outlined to the public and businesses.

# Policy Analysis and Background (non-consent items only):

# Sustainability Impact:

No significant impact to sustainability present

Financial Impact:

None OR Adequate funds exist in account:	Adequate funds have been approved by council within the
	Main St Rehabilitation Project account to support PO# 240502
	in the amount of \$6,457,502

#### Attachments:

1. Contract with IMC	
2. IMC Purchase Order	

#### AGREEMENT

THIS AGREEMENT is by and between the City of Ketchum, Idaho (Owner) and Idaho Materials and Construction (Contractor). Owner and Contractor, in consideration of the mutual covenants set forth herein, agree as follows:

#### 1. WORK:

Contractor shall complete the Work as specified or indicated in the Contract Documents.

#### Milestone 1 - 2nd St to 4th St – Roadway and Bulbout Improvements

This Milestone covers the achievement of Substantial Completion of the Work between 2nd and 4th Streets, including completion of new curb and gutter, all paver sidewalks on both sides of Main Street or a stable acceptable surface, new bulb out curb and gutter and ADA curb ramps with stable acceptable surface if signal and other work is still outstanding. Truncated domes can be installed later if necessary. Installation of new pedestrian light pole foundations is required; street trees will be installed later, but tree well drainage systems must be complete, reconnection of irrigation and power to each tree and light pole and conduits must also be complete. To achieve Substantial Completion, all subsurface utilities and improvements in the sidewalk and bulb out realm must be completed, and the sidewalks generally clear for unimpeded pedestrian movement; pavement in the segment must also be completed though it can be a single leveling course and not final surface. Final connections for lighting and irrigation above ground, trees, and some final surfacing may be completed as part of Final Completion.

## Milestone 2 - 4th St to 6th St - Roadway and Bulbout Improvements

This Milestone covers the achievement of Substantial Completion of the Work between 4<sup>th</sup> to 6<sup>th</sup> Streets, including completion of new curb and gutter, all paver sidewalks on both sides of Main Street or a stable acceptable surface, new bulb out curb and gutter and ADA curb ramps with stable acceptable surface if signal and other work is still outstanding. Truncated domes can be installed later if necessary. Installation of new pedestrian light pole foundations is required; street trees will be installed later, but tree well drainage systems must be complete, reconnection of irrigation and power to each tree and light pole and conduits must also be complete. To achieve Substantial Completion, all subsurface utilities and improvements in the sidewalk and bulb out realm must be completed, and the sidewalks generally clear for unimpeded pedestrian movement; pavement in the segment must also be completed though it can be a single leveling course and not final surface. Final connections for lighting and irrigation above ground, trees, and some final surfacing may be completed as part of Final Completion.

# Milestone 3 – River St to 2<sup>nd</sup> St – Roadway and Bulbout Improvements

This Milestone covers the achievement of Substantial Completion of the Work between River Street and 2<sup>nd</sup> Street, including completion of new curb and gutter, all paver sidewalks on both sides of Main Street or a stable acceptable surface, new bulb out curb and gutter and ADA curb ramps with stable acceptable surface if signal and other work is still outstanding. Truncated domes can be installed later if necessary. Installation of new pedestrian light pole foundations is required; street

trees will be installed later, but tree well drainage systems must be complete, reconnection of irrigation and

power to each tree and light pole and conduits must also be complete. To achieve Substantial Completion, all subsurface utilities and improvements in the sidewalk and bulb out realm must be completed, and the sidewalks generally clear for unimpeded pedestrian movement; pavement in the segment must also be completed though it can be a single leveling course and not final surface. Final connections for lighting and irrigation above ground, trees, and some final surfacing may be completed as part of Final Completion.

## 3. CONTRACT TIMES:

Contract shall complete the Work as specified or indicated in Contract Documents.

Milestone	Project Element	Substantial Completion Date
1	2 <sup>nd</sup> St to 4 <sup>th</sup> Street - Roadway and Bulbout Improvements	July 3, 2024
2	4 <sup>th</sup> St to 6 <sup>th</sup> St - Roadway and Bulbout Improvements	August 28, 2024
3	River St to 2nd St - Roadway Improvements	October 18, 2024

# 4. CONTRACT PRICE:

Owner will pay Contractor for completion of the Work in accordance with the conformed Bid, which is included as part of this Agreement Form.

Base Bid: \_\_\_\_\_Six million, four hundred fifty-seven thousand, five hundred and two dollars\_\_\_\_\_\_(words)

IOTAL EXTENDED BID: (Words	TOTAL EXTENDED BID:	(words
----------------------------	---------------------	--------

## 5. PAYMENT PROCEDURES:

- a. Submittal and Processing of Payments: Contractor shall submit Applications for Payment. Engineer will process Applications for Payment as provided in the Contract Documents.
- b. Progress Payments and Retainage: Owner will make progress payments on account of the Contract Price based on Contractor's Application for Payment on the date of each month as established in the preconstruction conference during performance of the Work as provided herein. All such payments will be measured as provided in the Contract Documents. Prior to Substantial Completion, progress payments will be reduced by 5% and, in each case, less the aggregate of payments previously made and less such amounts as Engineer may determine or Owner may withhold, including but not limited to liquidated damages, in accordance with the Contract Documents.
- c. Final Payment: Upon final completion and acceptance of the Work in accordance with Contract Documents, Owner will pay the remainder of the Contract Price, releasing withheld retainage, as recommended by Engineer.

## 6. INTEREST:

a. Monies not paid when due shall bear interest at the rate 1/2 percent per annum.

## 7. CONTRACTOR'S REPRESENTATIONS:

To induce Owner to enter into this Agreement, Contractor makes the following representations:

- a. Contractor has examined and carefully studied the Contract Documents and the other related data identified in the Bidding Documents.
- b. Contractor has visited the Site and become familiar with and is satisfied as to the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
- c. Contractor is familiar with and is satisfied as to all federal, state, and local Laws and Regulations that may affect cost, progress, and performance of the Work.
- d. Contractor has carefully studied: (1) reports of explorations and tests of subsurface conditions at or contiguous to the Site and drawings of physical conditions relating to existing surface or subsurface structures at the Site (except Underground Facilities) if any, which have been identified in Paragraph 5.03 of the Supplementary Conditions as containing reliable "technical data", and (2) reports and drawings of Hazardous Environmental Conditions, if any, at the Site which have been identified in Paragraph 5.06 of the Supplementary Conditions as containing reliable "technical data."
- e. Contractor has considered the information known to Contractor; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and Site-related reports and drawings identified in the Contract Documents, with respect to the effect of such information, observations, and documents on 1) the cost, progress, and performance of the Work; 2) the

means, methods, techniques, sequences, and procedures of construction to be employed by Contractor, including any specific means, methods, techniques, sequences, and procedures of construction expressly required by the Contract Documents; and 3) Contractor's safety precautions and programs.

- f. Based on the information and observations referred to above, Contractor does not consider that any further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract Documents.
- g. Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.
- h. Contractor has given Engineer written notice of conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
- i. The Contract Documents are generally sufficient to indicate and convey understanding of terms and conditions for performance and furnishing of the Work.

# 8. CONTRACT DOCUMENTS:

The Contract Documents that are attached to this Agreement (except as expressly noted otherwise) consist of the following:

- a. This Agreement Form
- b. Performance & Payment bonds

c. Idaho Transportation Department, 2023 Standard Specifications for Highway Construction (not attached)

d. Special Provisions

e. Drawings consisting of sheets with each sheet bearing the following general title: "SH-75, Main Street, Ketchum".

- f. Contractor's Unit Price Form
- g. State Requirements Certification
- h. Affidavit for Securement of Taxes
- i. The following which may be delivered or issued on or after the Effective Date of the Agreement and are not attached hereto:
  - i. Notice to Proceed
  - ii. Work Change Directives.
  - iii. Change Order(s).
- i. There are no Contract Documents other than those listed above in this Article.

### 9. MISCELLANEOUS:

- Successors and Assigns: Owner and Contractor each binds itself, its partners, successors, assigns, and legal representatives to the other party hereto, its partners, successors, assigns, and legal representatives in respect to all covenants, agreements, and obligations contained in the Contract Documents.
- b. Severability: Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and remaining provisions shall continue to be valid and binding upon Owner and Contractor, who agree the Contract Documents shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.
- c. Assignment of Contract: No assignment by a party hereto of any rights under or interests in

the Contract shall be binding on another party hereto without the written consent of the party sought to be bound; and, specifically but without limitation, monies that may become due and monies that are due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law), and unless specifically stated to the contrary in any written consent to an assignment, no assignment shall release or discharge the assignor from any duty or responsibility under the Contract Documents.

#### 10. CONTRACTOR'S CERTIFICATIONS:

Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this paragraph:

a. "corrupt practice" means the offering, giving, receiving, or soliciting of anything of value likely to influence the action of a public official in the bidding process or in Contract execution

b. "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner, (b) to establish Bid or Contract Price at artificial noncompetitive levels, or (c) to deprive Owner of the benefits of free and open competition.

c. "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial, noncompetitive levels; and

d. "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

IN WITNESS WHEREOF, Owner and Contractor have signed this Agreement in triplicate. One counterpart each has been delivered to Owner, Contractor, and Engineer. All portions of the Contract Documents have been signed or identified by Owner and Contractor or on their behalf.

OWNER:	CONTRACTOR:
Title:	
[CORPORATE SEAL]	[CORPORATE SEAL]
Attest:	Attest:
Title:	Ву:
Address:	Address:
(If Owner is a public body, attach Evidence of authoring to sign and And resolution or other documents authorizin Execution of this Agreement).	ng Agent for service or process:

(If Contractor is a corporation, a partnership or a joint venture, attach evidence of authority to sign).

#### SH-75, RIVER ST TO 10TH ST - MAIN ST Project No. A022(210) Unit Price Form - May 2, 2024

Jnit Price Schedule						
Item No.	Description	Estimated Quantity	Unit	IMC Unit Price	IMC Extended Unit Price	
	REMOVALS					
201-005A	CLEARING & GRUBBING	1	ACRE	\$ 12,000.00	\$ 12,000	
202-005A	SELECTIVE REMOVAL OF TREES INCLUDING STUMPS	10	EACH	\$ 1,200.00	\$ 12,000	
203-001A	REMOVAL OF OBSTRUCTIONS (PAVERS)	447	SY	\$ 68.00	\$ 30,396	
203-001B	REMOVAL OF OBSTRUCTIONS (LANDSCAPE)	71	SY	\$ 110.00	\$ 7,794	
203-001C	REMOVAL OF OBSTRUCTIONS (WOOD SIDEWALK)	(19)	SY	\$ 55.00	\$ (1,068	
203-002A	REMOVAL OF OBSTRUCTIONS (LUMINAIRE)	5	EACH	\$ 1,000.00	\$ 5,000	
203-002B	REMOVAL OF OBSTRUCTIONS (BIKE RACK)	-	EACH	\$ 300.00	\$-	
203-002C	REMOVAL OF OBSTRUCTIONS (TRASH RECEPTACLE)	-	EACH	\$ 300.00	\$-	
203-003A	REMOVAL OF OBSTRUCTIONS (RETAINING WALL)	142	FT	\$ 105.00	\$ 14,900	
203-005A	REMOVAL OF OBSTRUCTIONS (RAMP AND HANDRAILS)	-	LS	\$-	\$-	
203-006A	REMOVAL OF SIGN	47	EACH	\$ 175.00	\$ 8,225	
203-015A	REMOVAL OF BITUMINOUS SURFACE	14,494	SY	\$ 26.00	\$ 376,856	
203-055A	REMOVAL OF CONCRETE PAVEMENT	23	SY	\$ 55.00	\$ 1,283	
203-060A	REMOVAL OF CONCRETE SIDEWALK	189	SY	\$ 70.00	\$ 13,207	
203-070A	REMOVAL OF CURB & GUTTER	2,810	FT	\$ 13.00	\$ 36,530	
203-085A	REMOVAL OF GUTTER	41	FT	\$ 25.00	\$ 1,025	
203-090A	REMOVAL OF INLET	12	EACH	\$ 3,000.00	\$ 36,000	
203-122A	REMOVAL OF MISCELLANEOUS ITEMS (POLE FOUNDATION)	7	EACH	\$ 300.00	\$ 2,100	
203-122B	REMOVAL OF MISCELLANEOUS ITEMS (SIGNAL HEAD)	6	EACH	\$ 1,000.00	\$ 6,000	
203-123B	REMOVAL OF MISCELLANEOUS ITEMS (PIPE)	167	FT	\$ 35.00	\$ 5,845	
203-130B	REMOVAL OF PAVEMENT MARKINGS	19	SF	\$ 60.00	\$ 1,140	
	ROADWAY & HARDSCAPE	-		•	. ,	
205-005A	EXCAVATION	1,192	CY	\$ 90.00	\$ 107,279	
205-030A	BORROW	4	CY	\$ 75.00		
301-005A	GRANULAR SUBBASE	616	TON	\$ 140.00		
303-022A	3/4" AGGREGATE TYPE B FOR BASE	1,818	TON	\$ 140.00		
401-014A	DILUTED EMULSIFIED ASPHALT FOR TACK COAT	1,123	GAL	\$ 20.00	. ,	
405-240A	MISCELLANEOUS PAVEMENT	-	SY	\$ 165.00	. ,	
405-245A	APPROACH	-	EACH	\$ 6,000.00		
405-455A	SUPERPAVE HMA PAVEMENT INCLUDING ASPHALT & ADDITIVES CLASS SP-5	4,642	TON	\$ 190.00		
509-010A	NON-STRUCTURAL CONCRETE	.,	SY	\$ 785.00		
614-015A	SIDEWALK	143	SY	\$ 195.00		
614-020A	DRIVEWAY	59	SY	\$ 265.00		
614-025A	CURB RAMP	359	SY	\$ 335.00	. ,	
615-256A	CURB TYPE 1	301	FT	\$ 150.00		
615-257A	CURB TYPE 2	36	FT	\$ 150.00		
615-331A	GUTTER TYPE 1	33	FT	\$ 150.00		
615-492A	CURB & GUTTER TYPE 2		FT	\$ 150.00		
615-651A	TRAFFIC SEPARATOR TYPE 1	52	FT	\$ 150.00 \$ 150.00		
S605-10A	CONC COLLAR	1	EACH	\$ 950.00		
S904-05A	SP CONCRETE RAMP AND STAIRS		LS	\$ -	\$ -	
S911-05A	SP 6" ROLLED CURB & GUTTER	3,856	FT	\$ 79.00	-	
S911-05A	SP 6" RIBBON CURB	140	FT	\$ 79.00 \$ 150.00	. ,	
			SY	\$ 150.00 \$ 188.00		
S912-05A	SP PAVER SIDEWALK	2,748		•		
S912-05B	SP WOOD SIDEWALK	37	SY	\$ 700.00		
S912-05D	SP PAVER CURB RAMP	59	SY	\$ 716.00	\$ 42,244	

#### SH-75, RIVER ST TO 10TH ST - MAIN ST Project No. A022(210) Unit Price Form - May 2, 2024

Luit Duiss Cal	Unit Price Form - May 2, 202	24			
Unit Price Sc		Estimated			IMC Extended
Item No.	Description	Quantity	Unit	IMC Unit Price	Unit Price
	DRAINAGE				
605-025A	12" STORM SEWER PIPE	396	FT	\$ 84.00	\$ 33,264
605-035A	18" STORM SEWER PIPE	66	FT	\$ 140.00	\$ 9,240
605-455A	MANHOLE TYPE A	1	EACH	\$ 9,250.00	\$ 9,250
605-500A	CATCH BASIN TYPE 1	18	EACH	\$ 4,750.00	\$ 85,500
605-635A	ADJUST MANHOLE COVERS	16	EACH	\$ 3,000.00	\$ 48,000
605-640A	ADJUST VALVE COVERS	11	EACH	\$ 3,000.00	\$ 33,000
605-655A	DRYWELL	3	EACH	\$ 8,050.00	\$ 24,150
606-110A	PIPE UNDERDRAIN	143	LF	\$ 120.00	\$ 17,160
	SIGNAL AND ILLUMINATION				
587-005A	PAINTING STRUCTURAL STEEL		LS	\$-	\$ -
619-010A	ILLUMINATION TYPE 2 (Allowance)	1	LS	\$ 50,000.00	\$ 50,000
656-010A	SIGNAL HOUSING (Install price only)	18	EACH	\$ 2,161.76	\$ 38,912
656-015A	INTERSECTION PREEMPTION DETECTION SYSTEM	2	EACH	\$ 31,234.60	\$ 62,469
656-020B	INTERSECTION DETECTION SYSTEM - RADAR (Install price only)	3	EACH	\$ 24,644.30	\$ 73,933
656-020C	INTERSECTION DETECTION SYSTEM - VIDEO	-	EACH	\$ 25,000.00	\$ -
656-020E	INTERSECTION DETECTION SYSTEM - THERMAL	-	EACH	\$ 8,000.00	\$-
656-030A	INTERSECTION SIGNAL STRUCTURE (Install price only)	2	EACH	\$ 42,732.40	\$ 85,465
656-035A	INTERSECTION PEDESTRIAN SYSTEM (Install price only)	12	EACH	\$ 2,462.66	\$ 29,552
656-040A	SIGNAL CABINET (Install price only)	3	EACH	\$ 15,666.86	\$ 47,001
656-045A	SIGNAL CONTROLLER (Install price only)	3	EACH	\$ 778.80	\$ 2,330
656-070A	ADDITIONAL ELECTRICAL ITEMS (Signals only)	1	LS	\$ 351,467.84	
657-015A	RRFB, AC POWERED (Already procured by City)	1	EACH	\$ 39,488.60	
657-020A	RRFB, SOLAR POWERED (Already procured by City)	1	EACH	\$ 37,488.60	
S901-05H	SP TRAFFIC SIGNAL HOUSE - RESET	4	EACH	\$ 2,096.86	
S901-05J	SP BOLT DOWN TUBULAR MARKER	18	EACH	\$ 605.00	· · · ·
S901-05K	SP INSTALL ORNAMENTAL POLE	16	EACH	\$ 2,000.00	. ,
S904-05D	SP INTELLIGENT TRANSPORTATION SYSTEM	1	LS	\$ 203,917.20	· · · ·
	Conduit and Locate Wire	3,380	LF	\$ 46.38	+,
	Junction Vaults	17	EACH	\$ 2,223.12	
	Splice Vaults	3	EACH	\$ 3,119.92	
	SIGNING AND PAVEMENT MARKINGS		Entern	<i>y</i> 3,113.32	
616-010A	SIGN TYPE B-1	140	SF	\$ 55.50	\$ 7,770
616-040G	STEEL SIGN POST TYPE B-2	140	FT	\$ 645.00	· · ·
	STEEL SIGN POST TYPE E-2			\$ 043.00 \$ 72.00	. ,
616-040K 616-080A		297	FT	\$ 72.00	. ,
	REINSTALL SIGN FACE	40	EACH		
616-090A	SPECIAL INSTALL SIGN (Procure and Install sign)	24	EACH	\$ 815.00 \$ 96.50	
616-100A 630-005A	SIGN BRACES TRANSVERSE, WORD, SYMBOL, AND ARROW PAVEMENT MARKINGS - WATERBORNE	3,200	LB SF	\$ 96.50 \$ 5.30	
030-00JA	TRANSVERSE, WORD, STMIDDL, AND ARROW PAVEMENT MARKINGS - WATCHDORNE TRANSVERSE, WORD, SYMBOL, AND ARROW PAVEMENT MARKINGS - PREFORMED	3,200	51	φ 3.30	\$ 10,900
630-010A	THERMOPLASTIC	4,000	SF	\$ 19.00	\$ 76,000
630-025A	LONGITUDINAL PAVEMENT MARKING - WATERBORNE	19,300	FT	\$ 1.00	\$ 19,300
	UTILITIES				
	STREETSCAPE AND IRRIGATION				
S900-05A	CONTINGENCY AMOUNT ADDITIONAL ELECTRICAL WORK	280,000	CA	\$ 1.00	\$ 280,00
	Conduit and Locate Wire	(120,000)	LF	\$ 46.38	
	Junction Vaults	17	EACH	\$ 2,223.12	
	Splice Vaults	6	EACH	\$ 3,119.92	

## SH-75, RIVER ST TO 10TH ST - MAIN ST Project No. A022(210) Unit Price Form - May 2, 2024

Item No.	Description	Estimated Quantity	Unit	IMC Unit Price	I	MC Extended Unit Price
S901-05A	SP TREE IRRIGATION ADJUSTMENT	10	EACH	\$ 5,500.00	) \$	55,00
S901-05B	SP ELECTRICAL RECEPTACLE ADJUSTMENT	10	EACH	\$ 1,000.00	) \$	10,00
S901-05C	SP POST ADJUSTMENT	6	EACH	\$ 1,000.00	) \$	6,00
S901-05D	SP TREE GRATES	30	EACH	\$ 3,400.00	) \$	102,00
S901-05E	SP TREE (AUTUMN BLAZE MAPLE)	34	EACH		\$	
S901-05F	SP FURNISHING FOOTING	-	EACH	\$ 450.00	) \$	-
S904-05B	SP IRRIGATION RELOCATION	1	LS	\$ 24,500.00	) \$	24,500
S912-05C	SP ADJUST EXISTING SNOWMELT	595	SY	\$ 65.00	) \$	38,675
S901-05G	SP MODULAR SUSPENDED PAVEMENT SYSTEM (SILVA CELL)	46	SY	\$ 905.00	) \$	41,630
	TEMPORARY/TRAFFIC CONTROL					
Z629-05A	MOBILIZATION (≤10% OF SCHEDULE BID TOTAL)	1	LS	\$ 520,567.18	\$	520,56
675-005A	SURVEY	1	LS	\$ 104,113.44	l \$	104,113
S904-05D	SP EROSION AND SEDIMENT CONTROL	1	LS	\$ 47,000.00	) \$	47,000
107-019A	SURVEY MONUMENT PRESERVATION	10,000	CA	\$ 1.00	) \$	10,000
205-060A	WATER FOR DUST ABATEMENT	2,000	MG	\$ 32.00	) \$	64,000
626-005A	PEDESTRIAN CHANNELING DEVICES	6,000	FT	\$ 8.50	) \$	51,000
626-010A	TEMPORARY TRAFFIC CONTROL SIGNS	600	SF	\$ 25.00	) \$	15,000
626-025A	BARRICADE	40	EACH	\$ 125.00	) \$	5,000
626-080A	TEMPORARY CURB RAMP	40	EACH	\$ 2,350.00	) \$	94,000
626-105A	TEMPORARY TRAFFIC CONTROL MAINTENANCE	500	HR	\$ 65.50	) \$	32,750
626-112B	FLOOD LIGHTS	200	DAY	\$ 50.00	) \$	10,000
626-115A	PORTABLE CHANGEABLE MESSAGE SIGN (PCMS)	1,000	DAY	\$ 60.00	) \$	60,000
626-120A	FLAGGER CONTROL	2,000	HR	\$ 65.50	) \$	131,000
626-125A	PILOT CAR	1,000	HR	\$ 92.00	) \$	92,000
626-130B	TEMPORARY TRAFFIC CONTROL SIGNAL	200	DAY	\$ 59.00	\$	11,800
626-135A	WEIGHTED BASE TUBULAR MARKERS	200	EACH	\$ 18.00	\$	3,60
Total of Exte	nded Unit Prices	•	•	•	\$	6,457,50



# **CITY OF KETCHUM** PO BOX 2315 \* 191 5TH ST. \* KETCHUM, ID 83340 Administration 208-726-3841 (fax) 208-726-8234

# PURCHASE ORDER BUDGETED ITEM? \_\_\_\_ Yes \_\_\_\_ No

# PURCHASE ORDER - NUMBER: 24088

To:	Ship to:
5162 IDAHO MATERIALS & CONSTRUCTION 1310 ADDISON AVENUE WEST TWIN FALLS ID 83301	CITY OF KETCHUM PO BOX 2315 KETCHUM ID 83340

P. O. Date	Created By	<b>Requested By</b>	Department	Req Number	Terms
05/02/2024	КСНОМА	КСНОМА		0	

Quantity	Description	Unit Price	Total
1.00	MAIN STREET REHABILITATION CONTRACT 03-4193-7135	6,457,502.00	6,457,502.00
	S	HIPPING & HANDLING	0.00
		TOTAL PO AMOUNT	6,457,502.0